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HANSEN & QUINN: Review Sheet #1 (for Units 1-10) - Basics (Accents, Breathings, etc.) (key)

Write out the Greek alphabet in both capitals and lowercase (in alphabetical order, of course):
aBydelnbikipvionpotveyyw ABTAEZHOIKAMNEOINPETYOXVYQ
Explain the difference between rough and smooth breathings. When do we use them? Where do they go?

rough breathings - over initial vowels - indicate an aspirated initial vowel (they make an "h" sound)
smooth breathings - also over initial vowels - indicate no aspiration (they do not effect the pronunciation of the vowel)

List the five short vowels and the five long vowels one encounters in Greek:

short: o € 1 0 v
long: & U

o v
What is a diphthong? List the eight diphthongs one encounters in Greek:

A diphthong consists of two vowels pronounced together as one syllable; it counts as a long vowel
ot o el v nv ot ov o

When does an Jjota subscript occur? Where does one stick it?

Iota subscript occurs when an iota is combined with a long alpha, eta or omega; it is written beneath the long vowel and is
not pronounced

What sorts of punctuation marks occur in written Greek? ldentify them and give their functions:

Greek has periods (.) which mark the end of sentences or thoughts, semicolons (-) which mark momentary pauses or
introduce lists, commas (,) that are used just as in English and question marks (;).

How does capitalization work in Greek? (l.e., Where and when does it occur? Where and when DOESN'T it?)
Greek capitalizes proper names and the first words of paragraphs and quotations. Capitalization does not occur elsewhere.
Name the three syllables of a Greek word that can take an accent and explain where they are located:

ultima: last syllable; penult: second-to-last syllable; antepenult: third-to-last syllable

Name the three types of accents that occur in written Greek, and describe some of the restrictions that bind them:
acute (/): can occur over all three accented syllables; grave (\): only occurs over the ultima when it's accented with an acute
and another word follows without a pause; circumflex (~): occurs on the ultima and penult, only over long syllables, MUST
appear when penult is accented, is long, and ultima is short

What type of accentuation do most Greek verb forms have? Briefly explain how it works:

Most Greek verbs have recessive accent - the accent goes as far back as it can, as dictated by the rules of accent.

What type of accentuation do most Greek non-verb forms have? Briefly explain how it works:

Most Greek non-verbs have persistent accent - the accent's position is established by an initial form & then moves based upon
the rules of accent.

Accent the following verb forms:

gomodunv Nupov  €duvduedo Nhodvere B¢ AABov  BovrécHm EBAGBNV tdtte



13). Accent the following noun and adjective forms, based on the accent of the first form given:
Odrotto Boldring OdratToy BoldrtTong Bodrn
aig alyog oiyec  aiyo Nuétepog Nuétepal NUETEPE NUETEPOVC

14). What part of the dictionary entry provides the starting accent position for nouns? for adjectives? How does the
rule for finding the accent on participles differ from the latter?

nouns: Nominative singular adjectives: neuter Nominative singular participles: masculine Nominative singular

15). Name two diphthongs that typically count as short for purposes of accentuation (when at the end of words).
*Where do these diphthongs (when final) count as long?*

ot and ou typically count as short for purposes of accentuation when final. They count as long when employed as endings for
the present optative active, 3" person singular (ot) and the aorist optative active, 3" person singular (o).

16). What major exception to the accent rules occurs in nouns (but not adjectives) of the first declension?
All first declension nouns have Genitive plurals with the accented ending -&v

17). What exception occurs in first and second declension nouns (and first/second declension adjectives) with acute
accents on the ultimas of their Nominative singulars?

They have circumflex accents on their ultimas in the Genitive and Dative, singular and plural.
18). Give the rule(s) for accenting third declension nouns with monosyllabic stems:
They accent their ultimas in the Genitive and Dative, singular and plural, and the Genitive plural has a circumflex.

19). Which four (or eight, depending on your interpretation) participles do NOT accent the feminine genitive plural with
a circumflex on the ultima?

present middle/passive participle; future middle/passive participle; first and second aorist middle participle; perfect
middle/passive participle

20). Name the six infinitives that do NOT have recessive accent, and be specific about precisely HOW said forms are
accented:

aorist infinitive active (accented on penult); perfect infinitive active (accented on penult); aorist infinitive passive (accented
on penult); perfect infinitive passive (accented on penult); 2™ aorist infinitive active (accented on ultima) and middle
(accented on penult)

21). Explain how accent works for most contracted verb forms:
Place the accent on the uncontracted form using the rules for recessive accent, then make alterations. If the original accent
fell on one of the contracted vowels, the accent must be on this syllable in the contracted form. If the ultima is accented, it

takes a circumflex. Other syllables are governed by the rules for accent.

22). Name two contracted verb forms that do NOT appear to follow the predictable rules for contraction, and show how
they seem to violate the rules (*though they actually do follow the rules!*):

present infinitive active of alpha-contracts (-av instead of -qv) and omicron-contracts (-ovv instead of -o1v)
23). What does one call a word without an accent? a word that throws an accent onto the preceding word?

Most unaccented Greek words are called proclitics; enclitics often toss their accents onto the words that immediately precede
them.



HANSEN & QUINN: Review Sheet #2 (for Units 1-10) - The Case System (key)

1). The following sentence highlights the functions of the NOMINATIVE case. Translate, identify the Nominative
nouns, and describe how they are being used:

A). nomtc i Buydnp. (Nominative as subject; Nominative as predicate nominative - Unit 1)

The daughter is a poet.
nontng: Nominative singular masculine, predicate nominative
1 Bvydnp: Nominative singular feminine, subject

2). The following sentences highlight the uses of the GENITIVE case with which you should be familiar. Translate
them, identify the Genitive nouns, and describe how they are being used:

A). 10 xpNHoTo T TOD GTpaTIdToL €K ThHC oikicg, dmd The Yig énéuedn. (Genitive of possession; Genitive of
motion away from - Unit 1)

The soldier's possessions were sent out of his house, away from the land.
100 otpatidTov: Genitive singular masculine, Genitive of possession
hi¢ olkicg: Genitive singular feminine, Genitive of place from which
¢ Yiic: Genitive singular feminine, Genitive of place from which

B). 6 veaviog dvé€iog Tipfic ovk fi0ede Ld TAY Myepdvov Tagfivor. (Genitive of value - Unit 4; Genitive of
personal agent - Unit 5)

The young man unworthy of honor was not wanting to be buried by the leaders.
Twfg: Genitive singular feminine, Genitive of value
t@v Nyepdvov: Genitive plural masculine, Genitive of personal agent

C). TOVG AdiKOVG TV OTALTOV TéUYETE TEVTE TUEPAV £1¢ TNV ViicoV. (Partitive genitive; Genitive of time
within which - Unit 6)

Y'all will send the unjust (ones of the) hoplites within five days (in)to the island.
t@v omAtdv: Genitive plural masculine, partitive Genitive
Nuepdv: Genitive plural feminine, Genitive of time within which

D). e{0e uM ot moAiton €xeivoug ToLC piTopoiC Ypaplv KAomiC YpdyouvTo. (Genitive of the charge - Unit 7)

If only the citizens would not indict those public speakers on a charge of theft.
klontig: Genitive singular feminine, Genitive of the charge

E). GAoyog N tiig vikng éAmic ) 10D otpatod.  (Subjective genitive; Objective genitive - Unit 9)

The army's hope of victory is senseless.
¢ vikng: Genitive singular feminine, objective Genitive
10V otportod: Genitive singular masculine, subjective Genitive

3). The following sentences highlight some uses of the DATIVE case. Translate, identify Dative forms, and describe
the type or use of the Dative case in each:

A). ® “Ounpe, 7 Be0¢ 101¢ &v T} xDdpQL, TOPdL T 1epd dDpo: TéUTEL. (Dative as indirect object; Dative of
place where - Unit 1)

(O) Homer, the goddess is sending gifts to those in the land, beside/at the temple.
tolg: Dative plural masculine, indirect object

0 xopq: Dative singular feminine, Dative of place where

t@® 1ep®: Dative singular neuter, Dative of place where

B). oUto¢ O maiot Toig "ABnvaiolg &Bhov dEoc Spmg churact 1ol edyevéct veviknto. (Dative of reference -
Unit 4; Dative of personal agent - Unit 5)



C).

D).

This man, (considered) worthy of a prize to all the Athenians, nevertheless has been conquered by all of the nobles.
nooL tolc 'ABnvaioic: Dative plural masculine, Dative of reference
ovuroct Toig evyeveot: Dative plural masculine, Dative of personal agent (with perfect passive verb)

éxetvn 1 Muépa Smhoig te kol Aiboig drnacot ot T@v modepiov edlayyeg EMBnoav.  (Dative of means or
instrument - Unit 5; Dative of time at which - Unit 6)

On that day, all of the enemy's battle-lines were destroyed with weapons and stones.
éxeivn Tf Nuépg: Dative singular feminine, Dative of time at which

dmAowg: Dative plural neuter, Dative of means or instrument

MBoig: Dative plural masculine, Dative of means or instrument

8de 0 Yépov, BAoyog Th yvaun, Sumg to aicypd 16 10D Paciiémg év dAnBeiq ¢édnlov. (Dative of manner;
Dative of respect - Unit 9)

This old man, irrational in mind, nevertheless was demonstrating the disgraces of the king in a truthful manner.
0 yvoun: Dative singular feminine, Dative of respect
éAnBeiq: Dative singular feminine, Dative of manner

4). The ACCUSATIVE case is highlighted in the next few sentences. Translate, identify Accusative forms, and
describe how the Accusative case is used in each:

A).

B).

C).

nOTe TéUTO TO ApYVpLOV elg TV TOAY Tapa Tovg pitopoag;  (Accusative as direct object; Accusative of
motion toward - Unit 1)

When am I to send the money (in)to the city, to the (side of the) public speakers?
70 ApyOprov: Accusative singular neuter, direct object

v noAw: Accusative singular feminine, Accusative of place to which

ToVG pNtopag: Accusative plural masculine, Accusative of place to which

Tévte vOKTOG &V T £xel 1ep® Eueva énel €€ 6Tddio elg TNV xdpay Ereméuuny. (Accusative of extent of
time; Accusative of extent of space - Unit 6)

For five nights I remained in the temple there after I had been sent (for) six stades into the countryside.
névte voktag: Accusative plural feminine, Accusative of extent of time

€€ otaduo: Accusative plural neuter, Accusative of extent of space

™V xdpav: Accusative singular feminine, Accusative of place to which

apo GyoBov 10 pidov pidov ypognv Sdpav ypdeesbor; (Internal/cognate accusative - Unit 7; Accusative as
subject of infinitive - Unit 10)

Is it (a) good (thing) for a friend to indict a friend on a charge of bribes?

@ilov (either): Accusative singular masculine, Accusative as subject of the infinitive
oilov (either): Accusative singular masculine, direct object

vpoenv: Accusative singular feminine, internal/cognate Accusative

5). The VOCATIVE case has one major use, highlighted in the following sentence. Translate this example, identify
which nouns/adjectives are Vocatives, and explain how the Vocative case is being used.

A).

u @UAGENG Toig oikiag, ® GdeApe. (Direct address - Unit 1)

Do not guard the houses, (0) brother.
adeApe: Vocative singular masculine, direct address
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HANSEN & QUINN: Review Sheet #3 (for Units 1-10) - Nouns (key)

Name the three qualities common to all Greek nouns and describe each of them:

CASE: (Nominative, Genitive, Dative, Accusative, Vocative) function of noun in sentence
NUMBER: (singular, plural, dual) how many? GENDER: (masculine, feminine, neuter): important for agreement

What are the five cases of the Greek noun system? Identify and give at least one use for each case:
NOMINATIVE: subject, predicate, in lists

GENITIVE: possession, objective/subjective, place from which, personal agent, partitive, time within which
DATIVE: reference, indirect object, time when, place where, respect, manner, means/instrument
ACCUSATIVE: direct object, place to which, extent of space/time, subject of infinitive

VOCATIVE: direct address

What is the general rule for finding a noun stem?

Drop the ending from the Genitive singular.

To what gender do most first declension nouns belong?

Most first declension nouns are feminine.

Give full dictionary entries for fifteen first declension nouns (from memory):

&yopd, &yopag, 1 "marketplace"  udim, udyne, 1 "battle"  oixia, olkiog, N "house"  téxvn, Téxvnc, | "art, skill, craft"

xwpo, xopag, N "land, country”  yoyn, yoyiic, | "soul"  @Aio, ihiog, | "friendship" vikn, vikng, | "victory"
&petn, dpetiic, N "excellence, virtue" BouvAn, BovAiic, i "will, council"  dnpoxpoatio, dnpoxpatiog, N "democracy"
elpnvn, eipfvng, N "peace” éxkAncio, éxkkAnoiog, 1 "assembly" Bvcia, Bucioc, © "sacrifice”

&pxM, &pxiic, N "beginning, rule, empire"

Decline yuyn, yuxfic, 1 alongside ywpa, yopag, 1. Label case and number:

Nom. yoyn yoyod PO x®po

Gen. yoyic YooV XDPOG XOPOV

Dat. yoxii yoyoig xX0PQ x0poS

Acc. yoynv yoybc XOpov XDPOG

Voc. yoyn yoyod XdpoL x®po
S P S P

Decline yépupa, yepvpag, ) alongside povoa, wovong, . Label case and number:

Nom. Yépupa Yépupa povoo povoo

Gen. YEQUPOG YEQUPDV povong pHovo®v

Dat. YePUPQ YeEQUpOUG povon poboaig

Acc. YEQupow YEQUPOG povoov povoag

Voc. Yépupa YEQupo povoo povoo
S P S P

Decline mo\litng, noAitov, 6 alongside veaviog, veaviov, 0. Label case and number:

Nom. noAitng ToATTO veoviog veoviot

Gen. noAitov TOATOV veaviov VEOVIDV

Dat. moAiTn ToAitong veavio veavioig

Acc. noAitnv noAitog veoviov veoviog

Voc. TOAlTOL ToATTO veavio veoviot
S P S P

To what gender(s) do most second declension nouns belong? masculine and neuter
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Give full dictionary entries for ten second declension nouns (from memory):

delpdc, d8ehpod, 6 "brother"  &vBpwrog, dvOpdrov, 6 "man, human being" BipAriov, Biriov, 16 "book"
ddpov, ddpov, T "gift; bribe" £pyov, €pyov, 160 "work, deed" 0edc, Beo?, 6 or 1) "god, goddess"
Adyog, Aoyov, 6 "word, speech, story" vijoog, viioov, 1 "island" 084g, 6809, T "road"

“Ounpog, ‘Ounpov, 6 Homer

Decline 086¢, 660, 1 alongside dapov, dopov, 16. Label case and number:

Nom. 000¢ 0ol ddpov ddpo

Gen. 000Y 00mV ddpov ddpwv

Dat. 00® 0001¢ Shpw dwpotg

Acc. 006V 0000¢ ddpov ddpo

Voc. 00¢ 0ol ddpov ddpo
S P S P

To what gender(s) do most third declension nouns belong?
masculine, feminine and neuter (all three)

Give full dictionary entries for twenty third declension nouns (from memory):

o, atyodg, 6/m "goat" vépov, Yépovtog, 0 "old man" “EAAnv, "EAAnvoc, 6 "a Greek"  v0E, voxtdg, i "night"
é\ric, éAnidog, N "hope, expectation" oMU, COUATOS, TO "body" earayE, edlayyog, | "battle line, phalanx"
eolag, pOAakog, 0 "guard" x6pg, xdprroc, 1| "grace, favor, gratitude" ypdupo, ypaupoatog, 16 "letter, documents"
Nyeumv, nyeudvog, o "leader” Toinuo, ToOMuUeTog, 16 "poem" pATop, pNTopog, 6 "public speaker"

ocwthp, coThpog, 6 "savior" xpfiue, xpiuetog, To "thing, goods, money" &yov, dydvog, 0 "contest, struggle"
dalpwmv, daiuovoc, 6 or 1} "god, goddess, divine being" Svouo, Ovopatog, T0 "mame"

Vdwp, Vdatog, 10 "water" &vnp, avdpdc, 0 "man"

Decline v0§, voktdg, 1 alongside nporyno, tpdynatog, t0. Label case and number:

Nom. vog VUKTEG TPOyUOL TPOYLOTOL
Gen. VUKTOG VUKT®V TPAYUOTOG TPOYUETOV
Dat. vokTti vuéi(v) TPOYUOTL TPAYUOGL(V)
Acc. VOKTOL VOKTOG TPOyUOL TPOYLOTOL
Voc. vog VUKTEG TPOyUOL TPOYLOTOL

S P S P

Decline yépic, yéprrog, ) alongside éAnic, éAnidoc, . Label case and number:

Nom. x6pig x6prreg é\mic EATideg

Gen. x6prrog yopitov £\ridog EATiIdwV

Dat. x6prt x6proi(v) EAmidn glmioi(v)

Acc. x6pv x6prrog EATida EATidog

Voc. x6pt x6prreg Elmti EATideg
S P S P

Decline Buydp, Buyotpdc, 1 alongside téhoc, téhovg, 16. Label case and number:

Nom. Buydanp Buyatépec té\og Téhn
Gen. Buyatpdc Buyatépav téhomug TEADV
Dat. Buyarpi Buyatpdoi(v) téhel téheci(v)
Acc. Buyatépa Buyatépog té\og Téhn
Voc. B0yarep Buyatépec té\og Téhn

S P S P

Decline gbo1ic, pvoewe, 1) alongside innede, innéwng, 0. Label case and number:

Nom. @Oo1g pooelg mreng inrelg / innhg
Gen. @OoENG @OoEDV nrémg mrRE@vy

Dat. fopiLezal evoEo1(V) inmel innedo(v)
Acc. @Oo1V pooelg mréo mréog

Voc. @001 pooelg red inrelg / innhg

S P S P



HANSEN & QUINN: Review Sheet #4 (for Units 1-10) - Adjectives (key)

1). In what THREE ways do adjectives agree with the nouns they modify?
case, number and gender

2). What are the two major groups of Greek adjectives? Give FOUR examples of each of these two types, with full
dictionary entries:

first/second declension:  &ryofdc, dryodh, dyobdv "good"  &dukoc, &Sikov "unjust”  dvé&log, dvé&iov "unworthy"
a&og, a&la, a&lov "worthy, worth"

third declension: &AnBnc, dAnbéc "true, real" e0yevic, eOyevég "well-born, noble"
gvdaipmv, ebdarpov "fortunate, wealthy, happy" chepav, cdepov "prudent, temperate"
3). What does one call an adjective without a noun to modify? How does one translate this type of adjective?
a substantive adjective add "man," "woman" or "thing" depending on the gender of the article

4). What is the rule for obtaining an adjective's accent?
consult the neuter Nominative singular

5). Give at least THREE noun/adjective pairs (where the adjective modifies the noun) that show that the ending of an
adjective is not necessarily the same as the noun with which it agrees:

7N &ducoc yoyn 0 evdoipmv &vBpawmog 10 GAn0eg téAhog
6). What is the name for a verbal adjective? Identify the tenses and voices that have these things:
a participle present active, middle and passive; future active, middle and passive;

aorist active, middle and passive; perfect active, middle and passive;
second aorist active and middle

7). What kind of adjective "points out" the word with which it agrees? Give the dictionary entries for the THREE
adjectives of this type with which you are familiar.

a demonstrative adjective gkelvog, €xelvn, ékeivo "that"
30, 110¢, 100¢ "this (here, in this place)"

oUtog, atn, ToVto "this, that"

8). How many types of first/second declension adjectives are there? How does one identify each type given only the
dictionary entry? Give an example of each:

There are two types: three-ending and two-ending. Three-ending have three distinct Nominative singulars, two-ending have
two.

three-ending: 8fjAoc, dHAN, dfidov "clear, visible"
two-ending: &Aoyog, GAoyov "unreasoning, unreasonable, irrational"

9). How many types of third declension adjectives are there? Give an example of each type and explain how one
tells them apart:

There are two types: those like co@pwv, cdepov "prudent, temperate" and those like ebyevig, edyevég "well-born, noble."
One can tell them apart by looking at the Nominative singulars.

10). How does one generally form an adverb from an adjective? Demonstrate:

by adding -wg to the adjective stem; ¢f. dixaiog, dikolc, dikoov; stem = dikot-; adverb = dikoing
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Nom.

Gen.
Dat.
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Decline Bedc, Beod, H alongside the proper forms of gitoc, piln, pilov. Label case and number.

Beoc oiln Beol pilot
00D pidng Oedv pilov
Bed oin Beoic pilong
Oeov einv Beovg pilac
Oee @iln Beol pilot

S P

Decline pntwp, pitopog, 6 alongside the proper forms of ava&iog, dvé&iov. Label case and number.

pAtop avaéiog
pAtopog avaiov
prtopt avatio
phtopa avé&iov
phtop dvaéie

S

pAtopeg dvaéiot
pntopwv ava&iov
phtopoty avatiolg
pAtopag avagiovg
phtopeg dvaéiot

P

Decline mointhg, tointod, 6 alongside the proper forms of cogpav, cdepov. Label case and number.

TONTNG COPPDV
TONTOV COPPOVOG
TOMTH 6OPPOVL
TONTNV COPPOVOL
TOMNTO COPPOV

S

TONTOL COPPOVEG
TOMTAV COPPOVMV
TOMTOIE COPPOSL(V)
TONTOG COPPOVOG
TONTOL COPPOVEG

P

Decline Aéyoc, Adyov, 6 alongside the proper forms of dAnf1c, aAnbéc. Label case and number.

Abyog GAnOnc
Abdyou dAnBodg
Aoy AnOel
Adyov dAn0%
Aoye dAnBéc

S

Abyor dAnBeic
Aoyov dAnOdY
Aoyorc dAnBéou(v)
Adyoug dAnBeic
Abyor dAnBeic

P

Decline &vnp, avdpdg, 0 alongside the proper forms of o tog, adtn, Todt0. Label case and number.

0Utog 0 Gvnp
T0UTOL T0D GvdpdC
00T T Gvdpi
ToVTOV TOV AVdpa
- (®) &vep

S

oUtot ol &vdpeg

TOVTOV TOV AVEpDdV
TOVTOLG 101G AvOpdoL(v)
TOVTOVG TOVG GVOpOIG
- (®) avdpec

P

Decline ypfiua, xpnuatoc, 16 alongside the proper forms of arog, Grnaca, drav. Label case and number.

amav To phuo
ATaVTOG TOV XPALOTOG
OTOVTL T) Y pNHOTL
amav 1o phuo

amav 1o phuo

S

OTOVTO TO X PALOTOL
AmAVTOV TOV X PNUETOV
Omao1 TO1g YpNUaGL(V)
OTOVTO TO X PALOTOL
OTOVTO TO X PALOTOL

P

Decline xlonn, xLornfig, 1 alongside the proper forms of ékeivog, éxeivn, éxelvo. Label case and number.

gxeivn ) kAonn
éxeivng tig xlonfig
ékeivn 1f khoni
gxeivny v KAonfy
- (®) kAomA

S

gxelvar ol kAomod
gxeivav TV KAOTmV
gxeivoug toig klomaig
gxeivog g KAomag
— (®) xhorod

P

Decline &yov, dyavog, 6 alongside the proper forms of 6d¢, 116¢, 168e. Label case and number.

30 0 drywv

T0VdE 10D dydvVog
T TQ YDV
TOvde TOV dydva
— (@) &yodV

S

010¢ o1 dydveg
TOVOE TOV AYDOVOV
10160¢ 101 dywo(v)
100G 0E TOVG AYDOVaG
- (®) Gydveg

P



HANSEN & QUINN: Review Sheet #5 (for Units 1-10) - Verbs #1 (key)

1). Complete the following list of the five qualities characteristic of all finite Greek verbs, and describe each, listing all
possibilities for the individual characteristics:

PERSON (3): first ("L," "we"), second ("you," "y'all")or third ("he," "she," "it," "they")
NUMBER (3*): singular (one), plural (more than one) or dual (pairs)
TENSE (7*):  present, future, imperfect, aorist, perfect, pluperfect, future perfect

MOOQOD (4%): indicative (statements of fact), subjunctive and optative (subordinate clauses and hypothetical statements) and
imperative (commands)

VOICE (3): active (subject performing the action), passive (action performed on the subject) and middle (subject performs the
action but has an interest in the completion of the action)

2). What TWO things does the tense of a verb in the indicative mood provide information about? Identify all the
possibilities for each of these things:

Tense in the indicative provides information about time (present, past or future) and aspect (progressive/repeated, simple or
completed)

3). What's the difference between the primary and secondary tenses of the indicative? Which tenses belong to each
designation?

The primary tenses (present, future, perfect and future perfect) refer to present or future time; the secondary tenses
(imperfect, aorist and pluperfect) refer to past time.

4). Explain the differences between the three moods of the Greek verb with which you are familiar:

The indicative mood is the mood of statements of fact and fact-based questions; the subjunctive and optative moods are
employed for certain subordinate clauses, conditions, hypothetical situations and - in general - to show uncertainty.

5). How many principal parts does a Greek verb (usually) have? Fully identify (i.e., five qualities) each part:
Greek verbs typically have 6 principal parts. #1: present indicative active, 1* person singular; #2: future indicative active, 1%
person singular; #3 aorist indicative active, 1% person singular; #4: perfect indicative active, 1* person singular; #5: perfect
indicative middle/passive, 1* person singular; #6: aorist indicative passive, 1* person singular

6). Explain the principle of subject/verb agreement in Greek. Identify a major violation of this rule.

Verbs must agree with the nouns that act as their subjects in number (singular or plural). Neuter plural subjects take singular
verbs, however.

7). What suffix do all past indicative Greek forms have in common? What is this suffix called?
The suffix (¢-) is called the past indicative augment.

8). How do infinitives differ from finite verb forms?
Infinitives have tense and voice, but unlike finite verbs, they lack person, number and mood.

9). List 4 uses of the Greek infinitive:

The infinitive can be used with verbs that issue commands, in an explanatory fashion (epexegetically), as the direct object of
a verb and in an articular infinitive construction.



10).

11).

12).

13).

14).

15).

16).

17).

18).
nouns?

19).

Describe how one performs a synopsis of a verb:

To perform a synopsis, one first writes out the principal parts of a verb. Then one generates all the forms (tenses, voices and
moods) of the verb for a given person and number (plus all infinitives).

How does the tense of a subjunctive or optative differ from that of a verb in the indicative mood?

The tense of optatives and subjunctives does not provide information about time, but only about aspect. The tense of
indicatives provides information about both.

Explain how sequence of moods works:

Sequence of moods determines which mood (subjunctive or optative) of verb appears in a subordinate clause following an
indicative verb in a main clause. If the tense of the main verb is a primary tense, the mood of the verb in the subordinate
clause will be subjunctive. If the tense of the main verb is secondary, the subordinate clause will have a verb in the optative
mood.

The contracted verbs with which you are familiar can display contractions in two different principal parts. Which?

They display contractions in principal part #1 (alpha, epsilon and omicron contract verbs) or #2 (verbs with contracted
futures)

What is a participle? What five qualities do they have?

A participle is a verbal adjective. They have case, number, gender, tense and voice.

Which four Greek verb tenses have participial forms? in which voices?

The present, future, first and second aorist and perfect tenses have participles in all three voices.

Explain the significance of the tense of a patrticiple:

The tense of a participle always provides information about aspect, and sometimes about time. The present participle shows
progressive/repeated aspect and typically shows action simultaneous with the main verb. The future participle has simple or
progressive/repeated aspect and has action subsequent to the main verb. The aorist participle has simple aspect and shows
prior or simultaneous action. The perfect participle has completed aspect and shows prior time.

What are the two uses of the participle with which you are familiar?

attributive use - like an adjective or other modifier in the attributive position - or circumstantial use (when it ISN'T in the
attributive position and acts as part of an adverbial clause)

Masculine and neuter forms of the active participles (and the aorist passive participles) are declined like what
What about feminine forms?

Masculine and neuter forms of the active participles (and the aorist passive participles) are declined like third-declension
nouns. Feminine forms of these participles are declined like first-declension nouns.

Middle/Passive participial forms (save the aorist passive) are declined like what type of adjectives?

Middle/passive participial forms (save the aorist passive) are declined like first/second declension adjectives.



HANSEN & QUINN: Review Sheet #6 (for Units 1-10) - Verbs #2 (key)

1). Conjugate kAéntw, kKAéyw, Exdeya, kéxhoga, kékAeuual, éxAdrny in the present indicative active, middle and
passive. Label person and number. Translate the first person plurals:
ACTIVE MIDDLE/PASSIVE
1 KAETT® KAEmTOuEY "we are 1 KAEmTopon kAentduebo "we steal for
2 KkAémtelg KAéntete stealing" 2 kAéntel / kAéntn kAéntecOe for ourselves;
3« KAémTel KAEnTOVGL(V) 3« KAénTeTON KAénTovTon we are stolen"
S P S P
2). Conjugate cplw, chon, Ecwca, cécuka, cécwcuat/cécmuat, és0bny in the imperfect indicative active, middle and
passive. Label person and number. Translate the second person singulars:
ACTIVE MIDDLE/PASSIVE
1- gowlov goplouev "you were 1- golounv gow6uebo "you were saving
2w gowlec ¢oplete saving" 2w ¢oplov ¢o@lecbe for yourself; you
3= gople(v) gowlov 3« ¢oleto ¢oplovto were being
S P S P saved"
3). Conjugate neibo, neicw, énelca, néneiko, téneicuor, éneicbny in the aorist indicative active, middle and passive.
Label person and number. Translate the third person plurals:
ACTIVE MIDDLE PASSIVE
1 éneloo éneicopey 1 gnetodunv énercduedo 1 éneicOnv éneicOnuev
2w Enelcog énelcare 2w éneico éneicacbe 2w éneicOng éneicOnte
3« énewoe(v) énelcov 3« éneicato éneicavto 3« éneicOn éneicOnoav
S P S P S P
"they persuaded" "they persuaded for themselves" "they were persuaded / obeyed"
4). Conjugate Aeinm, Aetyow, Emov, Médowra, AMédewpa, deipbny in the second aorist indicative active and middle and
(first) aorist passive. Label person and number. Translate the third person plurals.
ACTIVE MIDDLE PASSIVE
1 E\urov g\inopev 1 gmbdunv ghmdpedo 1 EheipBnv EheipOnpuev
2w Ehmec g\inete 2w gNinov #inecOe 2w gheipbng gheipOnte
3« Eme(v) E\urov 3« g\ineto g\inovto 3« EeiqOn gheipBnooav
S P S P
"they left behind" "they left behind for themselves" "they were left behind"
5). Conjugate épyo, &pEm, np&a, Npxo, Npyuot, fipxOnv in the future indicative active, middle and passive. Label
person and number. Translate the first person singulars:
ACTIVE MIDDLE PASSIVE
1 &pEo &pEouev 1 &pEopon Gp&duebo 1 apyxBicopon GpxOncduedo
2w &pEeic GpEete 2w Gp&er/ dpén 8pEeche 2w GpyBho-et/-n  dpxBhoecbe
3« aper apEovoi(v) 3« apEetan apEovtan 3« apyBiceton apyBicovton
S P S P S P
"T will rule" "T will begin" "I will be ruled"
6). Conjugate noidedw, nodedow, énaidevoo, tenaidevko, tenaidevpot, éna1dedOny in the perfect indicative active,
middle and passive. Label person and number. Translate the second person plurals:
ACTIVE MIDDLE/PASSIVE
1 nenoidevio TETOLOEVKOUEY "y'all have 1 neroidevpot nenodeduebo  "y'all have edu-
2u nenaidevkog nenodevkote educated" 2u nenaidevoot nenaidevcle cated for your-
3« nenaidevke(v) memadedroci(v) 3« rnenoidevTot nenaidevvtor  selves; y'all have
S P S P been educated"
7). Conjugate koAb, koddon, Ekdlvca, kekdAvka, kekdAvpot, ExoldBny in the pluperfect indicative active, middle
and passive. Label person and number. Translate the third person plurals:
ACTIVE MIDDLE/PASSIVE
1 gxek®AVKN ExeKOAVKELEV "they had 1 gxeKOAVOUNY gxexolduebo.  "they had hin-
20 EKEKOAOKTG EKeEKOADKETE hindered" 2w £KEKDAVGO gxexdAvohe dered for them-
3 EKEKOADKEL(V)  EKEKOAVKESOY 3 EKEKDAVTO £KeKOAVVTO selves; they had

S P S P been hindered"



8). Generate and translate all 9 infinitive forms of A, Mow, EAvoo, Mélvia, Aédvuot, EMBnv with which you are
familiar, as well as the second aorist active and middle infinitives of Aeinw, Aetyw, Ehmov, Aédouro, AMéhewupon, heipbny.
pres act inf: Abew "to release” pres mid inf: MbecBou "to release for oneself"

pres pass in f: MbecBoun "to be released"  aor act inf: Adoon "to release (once and for all)"

aor mid inf: MoacBot "to release (once and for all) for oneself  aor pass inf: AvbBfivar "to be released (once and for all)"
perf act inf: AeAvkévar "to have released" perf mid inf: AeddoBon "to have released (for oneself)"

perf pass inf: AeddoBau "to have been released" 2™ aor actinf:  Anelv "to leave behind (once and for all)"

2™ aor mid inf:  AwrécBon "to leave behind (once and for all) for oneself"

9).

Conjugate yopebm, xopevon, éxdpevca, kexdpevka, kexdpevual, éxopeddny in the present subjunctive active, middle

and passive. Label person and number:

1
D
3u

10).

ACTIVE MIDDLE/PASSIVE
XOPpEL® XOPELOUEY 1 xopedmpot xopevodpedo
XOPEONS xopednte 2 xXopein xopedncbe
xXopein XopebOGL(V) 3« xopebntot XopebOVTOL
P S P

Conjugate moAitebm, tohtedow, énohitevoa, nemolitevko, tenoAitevpal, énoAtedOny in the aorist subjunctive active,

middle and passive. Label person and number:

1
D
3u

11).

ACTIVE MIDDLE PASSIVE
noATebow nolteboopey 1+ noAtedowpol  molitevoduedo 1+ nmoAtev0d noAttevfdpev
ToATEDONG ToArtebonte 2 ToAlTELON noltebonole 2 roltevdiig noltevbijte
ToAlTeELON noAtevcwot(v) 3« noAtebonTtol  moMTELGWOVTOL 3¢ noltevdi noArtevddor(v)
S P S P S P

Conjugate npdttm, npdlm, Enpao, nénpoya/nénpoyo, nénpayuot, énpdynv in the present optative active, middle

and passive. Label person and number:

1
D
3u

12).

ACTIVE MIDDLE/PASSIVE
TPATTOLUL TPOTTOLUEY 1- npatToiunyv npottoinedo
TPATTOLG TPATTOLTE 2 TPATTOLO npdrroiche
TPATTOL TPATTOLEY 3« TPATTOLTO TPATTOVTO
S P S P

Conjugate tdtto, 16w, Erata, Tétayo, Tétoyuar, £tédyOny in the aorist optative active, middle and passive. Label

person and number:

14).

15).

ACTIVE MIDDLE PASSIVE
6 Eout téEapey 1 ta&aiunv to&oipedo 1= torxBeinv toy0 -eluev / -einuev
t6E-oug/-ewoc  taEonte 2w 160 16EocOe 2=toyBeing toyD -elte / -einte
t6&-01/-e1e(v) t6E-ouev /ey 3 t6Eato t6Eavto 3«toBein tox0 -elev / -eincav
S P S P S P

Identify the stems and suffixes employed for most forms of the active participles:
pres act: pres stem + -ovt- (m/n) or -ovo- (f) fut act: fut act stem + -ovt- (m/n) or -ovo- (f)
1*' aor act: 1 aor act stem + -ovt- (m/n) or -oo- (f) 2™ aor act: 2™ aor stem + -ovt- (m/n) or -ovo- (f)

perf act: perf act stem + -01- (m/n) or -vt- (f)

Identify the stems and suffixes employed for the forms of the middle/passive participles (save the aorist passive):

pres m/p: pres stem + -opLev- fut m: fut pres/mid stem + -opev-
fut pass: fut pass stem + -ouev- 1" aor mid: aor act/mid stem + -opev-
2™ aor mid: 2™ aor act/mid stem + -opev- perf m/p: perf m/p stem + -pev-

Provide two examples each (dictionary entries) of alpha, epsilon and omicron contract verbs:

Vikdm, vikhow, éviknoo, veviknka, veviknuor, éviciny "win, conquer”

TG, TIHAGW, ETiunoo, TeTipnka, Tetiunuot, £tiufiny "honor"

aducém, aduchiom, Ndixnoa, Ndiknko, A8 {knuat, HéucnBny "do wrong, wrong"

noléw, Tomo, énoinca, meroinko, mteroinuot, énoOnv "make, do"

a&1dm, dEinom, NElwoa, nElnka, HElopat, nE1HGONY "think worhty of, think it right, expect (+ Gen, inf.)"
IAdw, nrdow, EdNAmoa, dedhmka, SedNlmuat, EdnAdbny "make clear, show"



HANSEN & QUINN: Review Sheet #7 (for Units 1-10) - Clauses (key)

1). How can one tell how many clauses are in a Greek sentence?

The number of clauses is generally equivalent to the number of (finite) verbs

2). What three introductory words signal Greek purpose clauses? What negative is employed in them?
va, ®g and Snwg the negative is pf
3). How does one determine the mood of the verb to be employed in a purpose clause?

Use sequence of tenses: if the main verb is a primary tense, the verb in the purpose clause will be in the subjunctive mood; if
the main verb is a secondary tense, the verb in the purpose clause will be in the optative mood.

4). What information does the tense of a verb in a purpose clause provide?
Verbs in purpose clauses provide information about aspect (progressive/repeated or simple), NOT time.
5). Identify and describe the two main components (halves) of a conditional sentence:

The first half is called the protasis - it's the "if" section of the condition. The second half is called the apodosis - it's the
"then" part.

6). Identify and describe the six common types of conditional sentence with which you are familiar. Include
characteristic words, moods of verbs and translation formulas:

TYPE PROTASIS APODOSIS TRANSLATION FORMULA

future more vivid: £Gv + subjunctive future indicative "does... will do"

future less vivid: el + optative optative + Gv "should... would"

present general: £Gv + subjunctive present indicative "does... does"

past general: el + optative imperfect indicative "did... did"

present contrafactual: el + imperfect indicative imperfect indicative + &v "were doing... would be doing"

past contrafactual: el + aorist indicative aorist indicative + v "had done... would have done"
7). Explain how conditional sentences with relative protases differ from "normal" conditional sentences:

In a conditional sentence with a relative protasis, the protasis has had its introductory word (el or £4v) replaced by a relative
pronoun (though an &v will remain if the introductory word was originally £&v). This generally only happens if the
antecedent of the relative pronoun is general.

8). What two words with which you are familiar can introduce causal ("since") or temporal ("after, when") clauses?
What mood are their verbs in?

énel and éneldn they both take an indicative

9). What sort of word introduces a relative clause? What do we call the word in the main clause to which this latter
word refers? In what TWO ways must these two words agree? Why don't they necessarily agree in THREE ways?

A form of the relative pronoun (0g, 1§, 6 ) introduces a relative clause. The relative pronoun refers back to an antecedent, with
which the relative pronoun agrees in number and gender. The two don't necessarily agree in case because the case of the
relative pronoun is determined by its function in its own clause.

10). In what mood do relative clauses (generally) have their verbs?

Relative clauses generally have verbs in the indicative mood.



11).

12).

13).

14).

15).

16).

Describe the hortatory subjunctive. Include information on person, tense, negative and translation formula:

The hortatory subjunctive is an independent subjunctive that occurs in the first person and expresses the will of the speaker in
the form of an exhortation. Tense (present or aorist) shows aspect only. The negative is uf. One can typically translate a
hortatory subjunctive by employing the phrases "Let us" or "May L."

Describe the deliberative subjunctive. Include information on person, tense, negative and translation formula:

The deliberative subjunctive is an independent subjunctive that occurs in the first person and expresses the uncertainty of the
speaker in the form of a question. Tense (present or aorist) shows aspect only. The negative is ufj. One can typically
translate a deliberative subjunctive by employing the phrases "Are we to... ?" or "Am I to... ?".

Describe the prohibitive subjunctive. Include information on person, tense, negative and translation formula:

The prohibitive subjunctive is an independent subjunctive that occurs in the second person and expresses a prohibition.

Tense (aorist only) shows aspect only. The negative employed (in ALL cases, as prohibitions are inherently negative) is puf.
One can typically translate a prohibitive subjunctive by employing the phrase "Do not...".

Describe the optative of wish. Include information on introductory words, negative and translation formula:

The optative of wish is an independent optative that expresses a wish, hope or prayer for the future. It is introduced by et
¥6p, £10¢ or nothing. Tense (present or aorist) shows aspect only. The negative is ufi. One can typically translate an optative
of wish by employing the phrases "May we...", "If only...", "I wish..." or "Would that...".

Describe the potential optative. Include information on characteristic words, negative and translation formula:

The potential optative is an independent optative that indicates that an action might possibly occur. Tense (present or aorist)
shows aspect only. The negative is o0; &v will also occur. One can typically translate a potential optative by employing the

words "may," "might," "could" or "would."

What three qualities does the articular infinitive have? How is it used? What does its tense indicate? What

negative does it employ?

17).

18).

The articular infinitive has tense, voice and case. It can be used as any other noun. Tense indicates aspect, not time. The
negative of the articular infinitive is pf.

How is an attributive participle used? How is a circumstantial participle different?
An attributive participle is in the attributive position and is translated as such.

Describe the five ways in which one can interpret a circumstantial participle. For each use, give information on

characteristic words in the main or participial clause, negatives and translation formulas:

19).

Circumstantial participles can provide general information about the circumstances of the action of the main verb, but they
can also demonstrate causal, concessive, conditional, temporal or purpose-al relations between the verb and the participle.

general information: no signal words

causal participle: look for &te or olo for the speaker's assertion of cause or ¢ for someone else's
concessive participle: look for opwg with the main verb and/or xainep with the participle

conditional participle: can act as the protasis of a conditional sentence; look for un as the negative
temporal participle: look for a temporal adverb like £€rerta with the main verb

participle expressing purpose: g can indicate a purpose as expressed by someone other than the speaker

Describe and differentiate between the two types of result clause with which you are familiar. Include information

on introductory words, moods of verbs and translation formulas:

Result clauses are introduced by the conjunction @ote. They come in two types: clauses of actual result, which express a
factual result that has occurred, is occurring or will occur and have their verbs in the indicative with the negative 00; and
clauses of natural result, which express a result that generally or usually (but not necessarily) has occurred/occurs/will occur,
have their verbs in the infinitive and subjects (where expressed) in the Accusative and the negative un. Clauses of actual
result can be translated "with the result that...". Clauses of natural result can be translated "so as (for)...".



HANSEN & QUINN: Review Sheet #8 (for Units 1-10) - Sentence Mapping (key)

1). COLOR all FINITE VERBS RED.

2). COLOR all SUBJECTS and PREDICATE NOMINATIVES BLUE.

3). COLOR all DIRECT OBJECTS and OBJECT INFINITIVES GREEN.

4) COLOR all OTHER INFINITIVES ORANGE.

5.) COLOR all PARTICIPLES PURPLE.

6). Put [BRACKETS] around all SUBORDINATE CLAUSES: purpose, temporal, causal, relative, participial and
result clauses. Include introductory words (if any).

7). Put <ANGLE BRACKETS> around all PREPOSITIONAL PHRASES. Make sure you enclose in angle brackets
everything between the preposition and the noun it modifies. Watch out for prepositional phrases within
prepositional phrases: use double angle brackets in such cases.

8). UNDERLINE any remaining nouns/adjectives and ALL words (articles, adjectives, adverbs, prepositional phrases
etc.) that modify them (i.e., underline everything).

9). TRANSLATE the sentences.

1). 11 00® t1j (€€ dryopaic) (eig TV xdpav) méumel “Ounpog to tolc avBpmmrotg
dMpaL.

On the road from the marketplace into the land Homer is sending the gifts for the men.
2). 1oV opo TV EEVV AyyeAov (AT THG Gryopac) (E1g TV VIiOOV) EXELWOLEY.

gxedevouey yap Tovg (v 1} viio®) avBparovg Tov moAepnov Acot.

We have sent the messenger from the foreigners away from the marketplace, into the island. For we were commanding the
men on the island to destroy the war.

3). [érel 0¥k é00capey (PO T0D TOAEUOL) 11 Bed], VOV Kol (&v Tf} vIio®) Kol (&v

R dryopd) tebvkapey [Tvo apetnv (elg T0g Wwouxog) Téuyn].

Since we did not sacrifice to the goddess before the war, now both on the island and in the marketplace we have scrificed so
that she may send virtue into our souls.

4). ® ¢ihot, [Edv (510 TV 10D B0d PBovAnv) AMcwpev Ty dnpokpotiov],
TELWOLLEV TOVG TOAITOG TOVG Gpyiig avaiovg (€k THe xpog) (Tapa Tovg ((EV T

viioe)) Eévoug).

(O) friends, if we destroy the democracy on account of the will of the god, we will send the citizens unworthy of rule out of
the land to (the side of) the strangers on the island.



5). [ein 7R (V70 1AV oTPOTIOTAV) UM €D £@uAGTTETO], 00K Giv H{0ehov dryyérovg

14 \ ~ b U
TELYOLL (TEPL TNG ELPTIVNG).
If the land were not being well guarded by the soldiers, I/they would not be willing to send messengers concerning peace.

6). ol veaviou [olg ye BiPMo (nepi Thig 1@V modatdv Ehevbepioc) Ve’ ‘Ounpov)

eypaon] (el ndymv) mévte nuepdv toxBnocovion (tod dnuov yapv).

The young men for whom books, at least, were written by Homer about the freedom of the ancients will be crawn up for
battle within five days for the sake of the people.

7).  &8nAd tot T¢r ToD moAépov. Bucdpebo oDV (mepl TV VOV). AMDcopev Thv

eLPNVNV T} UN; TEICOLLEY YOLP OV TOVG TOAITOC TOG OTKioG ALTely.

You know, the things of war are uncertain. Therefore, let us consult the gods concerning things now (the present time). Are
we to destroy the peace, or not? For we might/could/would/may persuade the citizens to leave their homes behind.

8). [xpnuorto €keivolg Tolg Kokolg pPNToPGt Amy |, EXELTO TOV GTPUTOV TYOryoV

(elg TNV yopoav TV 1OV ‘EAAVOV TOV 00y (VIO OTPATIOTAOV)) PUANTTOLEVOV).

After I (had) left goods/money behind for those wicked public speakers, (then) I led the army into the land of the Greeks
(who were) not being guarded by soldiers.

9). 1iicde ThHg VLKTOC YOPELCOVGT TEVTE TV YOPELTMOV TV TeppBéviov (Topo

v Bdhattov) (eic 10 thg 020D 1epdv). Nxovot yop ol OmAita of ¥’ dyobol (ueto

mv 1@V BapPdpav viknv) [tovg Beovg Tiuncoveg).

On this night, five of the dancers who were sent to the (side of the) sea, into the temple of the goddess will dance. For the
hoplites have come - the good ones, at least - after the victory over the foreigners so as to honor the gods.

10). Tovg (¢v Téhet) ddpav ypowdpedo [oto (mapd TOLG VOHOVC) TO TOD SOV

kAéyavtog] [wot’ éviktro N o).

Let us indict those in power on a charge of (accepting) bribes because (as I as speaker assert) they have stolen the people's
possessions against the laws, with the result that the city was being conquered.



